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2023

ECONOMICS

( Honours Core )

Paper : ECO-HC-6016
( Indian Economy—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
S PGS Ged il

(a) Mention one objective of Indian
monetary policy.

ST YIS <GB Seaety Sy 4 |
(b) What is the difference between repo rate
and bank rate of RBI?
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(c) State one im :
" portant instrument of
Indian fiscal policy. () What is foreign portfolio investment?
(3 2
wmﬁfﬁqﬁ@wﬁwﬁw R “coAeae’ R 2
Name the largest service sector in India.
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(d) Write one main feature of India’s trade

policy.
ST J1feEr T o1 T4 (3t forr | 2. Ansu;; the foll;;:n;mquestions : 2x5=10
o9 3 ﬁf}ﬂ%lﬁﬁ G q] -

(a) Distinguish between revenue deficit and
fiscal deficit.
ez 9 T FeC wiod o e v

(e) th'at is minimum support price in
Indian agriculture?

SReH FR fEe W o7 5 2
1] Wh:at is mechanisation of Indian (b) Mention two important defects of
agriculture? agricultural marketing of India.
RO FR TR 52 et R TORS Pl gFeeyd Ffo SoEd |
@ Gi (c) Write two positive effects of demone-
g, 'zve the meaning of Sndustri tisation in the Indian economy.
diversification’. al 5 - ‘I‘GI
Sefie Wfbars e forgy | o 1
(h) State one reason of Bl : (d) What is import substitution?
sector industries of India of public SRR ﬁzﬁﬁ?ﬁq &2
SITSF o241 199 Sraeg T ‘ (e) Give the meaning of ‘service sector’.
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3. Answer any four from the following () Discuss the role of service sector in
questions : 5x4=20 Indian economy.
oo firdl 2rpRd R et BiiRoe ey iy SRET RS CRIAST Sl S < |
fa) Explain any five instruments of
monetary policy in India. 4. Answer the following questions : 10x4=40
oo fral ePpTgRe e fie

SEICE e O G2 M S e B | L R e e
I : (a) Examine the statement that “In recent
years there has been a shift in the

(b) Distinguish between micro, small-scale emphasis from land reforms to
and medium industries of India. technological reforms in India”. 10
ST FU, T AF TG SEeR AT Aefy TRECH! ARF I @ T e SFe
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(c) Point out five main defects of Indian tax
system. Or / @331
©[eq 9 JIER H06] b =5 W§ﬁﬁrﬁﬁm | Discuss the problems and remedies of

micro industries of India. 5+5=10

(d) Discuss t_he various shortcomings of the ISIEICE i R DR S Sl b R R RIE CE
fiscal policy of India. TR SICIAT F4
O IEERE Aqes ey R4PTR
SICSTIOAT P | (b) Discuss the trade and investment policy

reforms introduced in India during post-
: . 1990’s. 5+5=10
(e) Outline the agrarian structure of India.
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Discuss the role of foreign direct
investment in Indian economy. 10
RO YA 2o (e RiFcase g
HICEADAT 4T |

Give an outline of the various defects of
macro-economic policies of India. 10

SR SR wAfes Ao [Kifca @bz
8T HCEAFTS 41 |

Or / 5241

Explain the problems of public sector
industries faced in India during post-
globalisation  period. Give  your
suggestions to remove such problems.
6+4=10
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Examine the performance of service
sector of India during post-1990’s. 10
3550 TR *RTE IENIRS ST CRINGT
FAAl 2R 39 |
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Or / <71
Discuss the major challenges facing
Indian agriculture in recent times. 10
Arefes e SROE FRE THIA @ T
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